INTERNATIONAL INDIAN SCHOOL, RIYADH
First Term - Academic Year 2009-10

Class V – Maths

Chapter -1, 2,3,6,7, and 13

Fill in the blanks

1. Greatest possible 8 digit number using 3,0,1,8,6 is ____________________________

2. 3856 X 100 = __________________

3. Number that have exactly two factors are called ______________________

4. _____________  has one end point.

5. The figure                           looks same after _____________ turn.

6. Tally mark for 7 is written as _____________________

7. Sum of 586 and 1000 is __________________________

8. __________________ is neither prime nor composite.

9. Place of 8 in 36,82,730 is ________________________

10. Predecessor of 40,00,000 is _______________________

11. Common endpoint of angle is called ________________________

12.                       is the tally mark for __________________

13. The figure                          has _____________ lines of symmetry.

14. L.C.M. of 16 and 32 is __________________

15. 3286 is divisible by 3 or not. Write Yes or No. ______________

16. Expanded form of 36,71,020 is ___________________

17. H.C.F. of 16 and 32 is ___________

18. A number is divisible by 5 if it ends with _______________

19. ________________ is the smallest prime number.

20. Largest 7 digit number is _______________

21. An angle smaller than right angle is ____________________
22. If 1,2,4 are the common factors of 8 and 12 then their H.C.F. is _________________

23. If S.P. is Rs. 520, C.P. is Rs. 580, then Rs. 60 is _____________

24. Numeral for 60000000 + 7000000+30000+9 = _________________

25. Successor of 42,19,999 is ____________________

26. An angle whose measure is more than 90o and less than 180o is called ____________________

27. The lines of symmetry for figure is ___________

28. If the C.P. of an article is more than S.P. _________ is incurred.

29. There are _____________ 4 digit numbers

30. Roman numeral for 63 is _______________

31. 483100 ÷ 100 = _____________

32. _____________ has two end points.

33. If 48, 96, 144 …. are the common multiples of 12 and 16 then their L.C.M. is _______________

34. Prime factorization of 36 is ________________

35. Numeral for sixty three crores, two lakhs, sixty thousand four is _______________

36. 428 rounded to nearest 10 is ______________

37. If C.P. of an article is Rs. 1000 and profit is Rs. 200 then S.P. is called ______________________

38. Two rays with common end point form an ______________

39. H.C.F. of 18 and 27 is ______________

40. The figure              looks the same after the _____________ turn.
41. If one number is multiple of the other then the _______________ number is their L.C.M.

42. A line has __________ end points.

43. Product of 4 x 690 x 25 x 0 = ______________

44. The number of zeroes that come after 1 in 10 lakh is ___________

45. The instrument used to measure an angle is _____________

46. H.C.F. of 99 and 100 is ______________

47. C.P = S.P. -                                       

48. The Hindu Arabic number for LXXIII is ________________

49. 39867 rounded to nearest 1000 is _______________

50. ______________ starts from a fixed point and extends endlessly in one direction.

51. The figure looks the same when it is upside down after __________ a turn.

52. An angle of measure 90o is called ____________________

53. 385 + 1000 = __________

54. 4843 ÷ 4843 = ________

55. The numbers that are multiplied are called _______ and the answer is called the __________

56. C.P. = S.P + __________

57. The factors of 12 are 1,2,3,4,6,12. Therefore 12 is a _________ number.

58. Product of 673 x 0 x 1000 is _____________

59. Loss is incurred when S.P. is  _________ than C.P.

60. The number 3255 is divisible by _________ and ________.

61. An angle of measure 145o is called _____________ angle.

62. Predecessor of 4,11,100 is ____________
63. 300 x 80 = ______________

64. 8:13 p.m. rounded to nearest hour is _____________

65. The only even prime number is ___________

66. Place value of 5 in 38,50,63,000 is _____________________

67. Smallest 8 digit number is _________

68. ______________ right angles is equal to a straight line.

69. 38609 – 0 = _____________

70. 1000 more than 99,399 is ___________

71. 0 ÷ 48162 is _______________

72. The answer in subtraction problem is called _______________

73. In roman numbers _________ can be subtracted from L and C only.

74. A number which has more than two factors is called ______________

75. The price at which the articles are bought is called ______________

76. ________________ = quotient x Divisor + Remainder.

77. The numeral for eight million six hundred seven thousand and nineteen is _______________

78. 31619 rounded to nearest 100 is __________

79. The number 1 less than 100,000 is _____________

80. The lines of symmetry for the figure are ___________  

81. A ___________ is the basic unit of geometry.

82. All even numbers are _______________ except 2

83. One crore is same as ______________ lakhs.

84. ___________ of the given numbers cannot be bigger than any of these numbers.

85. A number is divisible by 3 if the sum of the digits of the given number is divisible by ___________

86. To build a _________ number rearrange the digits in decreasing order.

87. 854 rounded to nearest 1000 is __________

88. A _______________ is a collection of points going endlessly in both directions along a straight path.
89. The pattern                                                                is ___________ turn.

90. 2 x 3 x 5 is called __________________ factorization of 30.

91. In       RST, SR and ST are called _______________ and ‘S’ is called _________________
92. When we round a number to nearest 100 we use the nearest multiple of ___________.

93. The _______________ of two or more numbers is the greatest number that divides the numbers without leaving any remainder.

94. _________________ has definite length.

95.        P                      The vertex is __________ arms are ________ and ______________ and the     

Q                    R      angle is __________________.
96. If the S.P. of an article is same as C.P. of an article then there is ______________________

97. A number is divisible by 10 if it ends with _______________

98. In Roman numbers a letter can be repeated upto a maximum number of _____________ times only.

99.     The smallest 6 digit number using 3,0,9,1 is _______________

100. The only prime number between 90 and 100 is ________________

101. To get a successor of a number we __________ 1 to the given number.

102. 325 – 325 + 325 = _______________

103. The places in lakhs period are _____________ and __________________

104. S.P. + _____________ = C.P.

105. _______________ and _________________ cannot be drawn. They can only be  

              represented.

106. 380 x 1 =_______________
107. 500 – 200 – 300 = __________

108. _____________ is the smallest composite number.

109. L.C.M. of 8 and 9 is _______________

110. H.C.F. of 8 and 9 is ________________

111. A factorization in which all the factors are prime is called a ___________ factorization.

112. The differences between the smallest 8 digit number and the greatest 7 digit number is     

                ________________.

113. _____________ is neither prime nor composite as it has only 1 factor.

114. If a number is divisible by 9 then it is also divisible by _____________

115. Roman numeral for 96 is _______________

116. L.C.M. of 11 and 5 is _____________

117. H.C.F. of 11 and 2 is _______________

118. Ray has _________________ length.

119. 3 digit number x 2 digit number cannot give a product of more than _________ digits.

120. Numbers that come one after the other on the number line are called __________    

              numbers.

121. To get a predecessor of a number we _____________ 1 from the given number.

122. There are _________ 3 digit numbers.

123. 2 dozen pencils = ___________ pencils.

124. All the even numbers are divisible by ________

125. An angle that looks at the corner of a cupboard is a ________________

126. _____________ shows an exact location.

127. The numeral for twenty five million seven thousand two is ________________

128. If C.P. of a pen is Rs. 25 and S.P. is Rs. 30 we get a ______________

129. H.C.F. of 14 and 16 is __________

130. The figure                                     represents _______________

131. The line segment joining 0o and 160o marks is called the ________________ of the 

               protractor.

132. If S.P. is Rs. 100, loss is Rs. 0, then C.P. is ______________

133. 2998 + 3000 = _____________

134. ___________ is a factor of every number.

135. Every number is multiple of ____________

136. We represent a __________ with the help of a dot.

137. The figure   A                                  B  represents a _______________
138. When we round a number to the nearest 1000 we use the nearest multiple of ________

139. The edge of a ruler is an example of _____________ angle.

140. Roman numeral for 78 is ___________

141. The number 18081 looks the same after __________ turn.

142.                                         Is the tally mark for _________________

143. _______________ of two or more numbers is the smallest number that can be divided 

               by those numbers without leaving any remainder.

144. A beam of light emerging from a torch is an example of ___________
145. S.P. – C.P. = _____________

146. 14286 -                        = _____________

147. The hands of a clock showing 8:10 a.m. forms ___________ angle.

148. The roman numeral XI after ½ a turn looks like _________________
149. C.P. + Profit = ______________

150. The extra amount spent on repairs or transport after buying an item is called 

               __________ and is always added to _____________.

151. Part of a line having two end points is called a _________________.

152. H.C.F. of 4, 8 and 16 is ______________

153. L.C.M. of 4, 8 and 16 is ______________

154. An angle of measure 45o is called ______________

155. The figure  X                        Y represents a ______________

156. A man sold a watch for Rs. 975 and incurred a loss of Rs. 50. Then the C.P. of the watch

              is _____________.

157. The Hindu Arabic number for LXII is _____________

158. The letter V looks like ______________ after ¼ turn.

159. C.P. -  ______________ =S.P.

160. H.C.F. of 5 and 18 is ______________

161. 1 million = ______________lakh

162. The word form of 9,08,63,007 is ____________________

163. In handling data ___________ is used to count the observations.

164. The number of digits in each period of the international place value chart is __________
165. All the prime numbers other than 2 and 5 end with _____________ or ______________

166. C.P. – S.P. = ___________

167. The letter H looks the same after _________ turn.

168. The word form of 1,360,710 is _____________________________________________

169. A smaller straight angle and greater than right angle is _______________

170. The price at which the articles are sold is called _______________

II Answer the following:

1. Find the product of 1385 and 629

2. Measure the following angles and state what type of angle is each.

P                                                                                    B                                                                                       Z


                Q                             R                                       A                        C                         X                                   Y
3. Find the H.C.F. of 36,24, 72

4. Rajesh bought a scooter for Rs. 25,350 and earned a profit of Rs. 1250. Find the price how much did he sell.

5. Put > or < or = in each                     

a) 38612768                         38621768

b) 10110001                         11001000
c) 45698900                         45689900

d) 35999998                         35989999

e) 20550600                         20550600

f) LXI + XX                             XL + XIV

g) XC + III                           C – IV

h) LXVI                                XLV

6. Find the L.C.M of 32, 24 and 16.

7. Draw the lines of symmetry for the following figures.
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8. Construct the following angles:-

a) 50 o               b) 125 o              c) 90 o                d) 75 o                e) 110 o             f) 45 o     g) 135o
9. A man bought a sofa set for SR. 6810 and spent SR. 50 for transportation. Later he sold the sofa set for SR. 7000. Find how much is the profit or loss.

10. Divide 982654 by 325

11. Use the data below to build a table using tally marks to find the number of different objects.

    



12. Add 3865, 73267, 8625 and 496

13. Name all the English alphabets which look the same on ½ turn.

14. Find the product of 7632 and 108.

15. Name the following angles of the following fig.

                 C                                  D


         A                     O                       B

a)      AOC          b)     COD                c)        DOB                            d)        AOD

e)     AOB              f)      BOC
16.  86328 is the dividend and 26 is the divisor. Find the quotient and remainder.

17.  A house was sold by a man for Rs. 4875000. If the seller made a profit of Rs. 711250 then find for how much did he buy. 
18. Subtract 983005 from 1260032

19. Check whether a) 38687 is divisible by 3 b) 401256 is divisible by 2 and 3 

       c) 803265 is divisible by 5 and 9.

20. Which figure looks the same after ¼ turn.
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21. Ravi bought 25 purses for RS. 650. He sold each for SR. 35. Find how much is the profit or loss.

22. Find the sum of 83562, 2389 and 8175.
23. Two dozen apples are sold at Rs. 480 at a loss of Rs. 72. What is the cost price of an apple?

24. Find the product of 8975 and 486.

25. Which of the following look the same after ½ turn.

       a) 10101         b) HOH             c) LOL         d) 1808        e) XHOHX   f) 121        g) PLLP     h) 81018

       i) NIN              j) 1331             

26. Divide 93478 by 624

27. A man bought a dinner set for Rs. 4525 and later sold at a loss of Rs. 275. Find for how much did he sell.

28. Write the following to the nearest 

       a) 4689 rounded to nearest 10.

       b) 8396 rounded to nearest 1000.

       c) 1962 rounded to nearest 100.

       d) 4892 rounded to nearest 10.

       e) 6439 rounded to nearest 100.

       f) 9612 rounded to nearest 1000.

29. Find the prime factors of the following.

       a) 63                b) 64                   c) 75                       d) 126.

30. Draw the bargraph for the following tables and answer the following:

       a) 

	Colour 
	Tallies
	Number

	Blue
	
	

	Green
	
	

	Red
	
	

	Yellow
	
	

	Orange
	
	

	Pink
	
	


b) Favourite subject
	Subject
	Talles
	Number

	Hindi (H)
	
	

	Maths (M)
	
	

	English (E)
	
	

	Social Studies (SST)
	
	

	Science
	
	


(i) Which is the most favourite colour?
(ii) Which is the most favourite subject?

(iii) How many more students like English than Maths?

(iv) Which is the least favourite colour?

31. Write the number name according to Indian and also International place value chart

a) 7465032           b) 36940023                c) 911542008             d) 13002401

e)   54239004

32. The ────── of symmetry shows where the shape has been reflected.
33. ─────── graphs show all the parts of a whole.

34. 100 people were asked which kind of movies were their favourite. Look at the table that gives their replies, and label the circle graph accordingly.

	Adventure
	24

	comedy
	20

	Mystery
	20

	Drama
	36





